
J =
∫ ∞

0

{
xT Qx + uT Ru

}
dt (1)

=
∫ ∞

0

[
xT

{
−AT P − PA + PBR−1BT P

::::::::::::

}
x + uT Ru

:::::
− uT BT Px − xT PBu + uT BT Px + xT PBu

::::::::::::::::::

]
dt (2)

=
∫ ∞

0

[
−

{
xT AT + uT BT

}
Px − xT P {Ax + Bu} +

{
xT PBR−1 + uT

}
R

{
R−1BT Px + u

}
::::::::::::::::::::::::::::::::::::

]
dt (3)

= −
∫ ∞

0

ẋT Pxdt −
∫ ∞

0

xT Pẋdt +
∫ ∞

0

{
xT PBR−1 + uT

}
R

{
R−1BT Px + u

}
::::::::::::::::::::::::::::::::::::

dt (4)

= −
[
xT Px

]∞
0

+
∫ ∞

0

xT Pẋdt −
∫ ∞

0

xT Pẋdt +
∫ ∞

0

{
xT PBR−1 + uT

}
R

{
R−1BT Px + u

}
::::::::::::::::::::::::::::::::::::

dt (5)

= x(0)T Px(0) +
∫ ∞

0

{
xT PBR−1 + uT

}
R

{
R−1BT Px + u

}
::::::::::::::::::::::::::::::::::::

dt (6)


